Meeeee

BUFFET SOLUTIONS

OO0l &

TABLES

BISTRO TABLES
ASSEMBLY INSTRUCTIONS




PARTS

()

ALLEN KEY FOR M16
=

(+)

M16 ALLEN SCREW

()
S

SCREW CAP

ASSEMBLY

OR

30" ROUND TOP @30" | @76cm

30" SQUARE TOP 30" | 76cm

o Unscrew the top and bottom screws

to disassemble 26" segment into parts.

()

26" | 67cm SEGMENT

()

BOTTOM CROSS BASE

()

TOP CROSS BASE

(o) =




g Make sure the pins are inserted into the main pole holes.




6 Tighten the tabletop by turning the plate clockwise by hand.

GREAT JOB, YOUR GOOD TO GO!

www.mogogo-buffet.com CATALOG# AIOO1



Meeeee

BUFFET SOLUTIONS

OO0l &

TABLES

BAR TABLES
ASSEMBLY INSTRUCTIONS




PARTS

()

ALLEN KEY FOR M16
=

()

M16 ALLEN SCREW

()
N

SCREW CAP

ASSEMBLY

30" ROUND TOP ©@30" | @76cm

OPTIONAL

30" SQUARE TOP 30" | 76cm

18" ROUND TOP ©18" | @46cm

"[.
|

18" SQUARE TOP 18" | 46cm

to disassemble 26" segment into parts.

Unscrew the top and bottom screws

() 7

15" | 38cm SEGMENT

()

26" | 67cm SEGMENT

()

BOTTOM CROSS BASE

()

TOP CROSS BASE

(o) =




g Make sure the pins are inserted into the main pole holes.




Ly :

B Optional shelf :
- SE—

T
|
= S

—— —

6 Tighten the tabletop by turning
the plate clockwise by hand.

=

S—r

YOUR ALL DONE, WAY TO GO!

www.mogogo-buffet.com CATALOG# AIO25



Meeeee

BUFFET SOLUTIONS

OO0l &

TABLES

DISPLAY TABLES
ASSEMBLY INSTRUCTIONS




PARTS

()

ALLEN KEY FOR M16
=

()

M16 ALLEN SCREW

()
N

SCREW CAP

ASSEMBLY

30" ROUND TOP @30" | @76cm

()

24" ROUND TOP ©24" | @60cm

18" ROUND TOP ©18" | @46cm

30" SQUARE TOP 30" | 76cm

24" SQUARE TOP 24" | 60cm

-:¢

18" SQUARE TOP 18" | 46cm

to disassemble 26" segment into parts.

Unscrew the top and bottom screws

(=) 7

15" | 38cm SEGMENTS

()

26" | 67cm SEGMENT

()

BOTTOM CROSS BASE

()

TOP CROSS BASE

(o) =




g Make sure the pins are inserted into the main pole holes.




@ Tighten the tabletop by turning
the plate clockwise by hand.

JOB WELL DONE, WAY TO GO!

www.mogogo-buffet.com CATALOG# Al027



Meeeee

BUFFET SOLUTIONS

OO0l &

TABLES

COFFEE TABLES
ASSEMBLY INSTRUCTIONS




PARTS

()

ALLEN KEY FOR M16
=

()

M16 ALLEN SCREW

()
N

SCREW CAP

ASSEMBLY

OR

OR

30" ROUND TOP ©@30" | @76cm

30" SQUARE TOP 30" | 76cm

42.5" OVAL TOP L42.5" W30" | L108cm W76cm

15" | 38cm SEGMENT

()

BOTTOM CROSS BASE

()

TOP CROSS BASE

o Unscrew the top and bottom screws

to disassemble 15" segment into parts.

e

[
(o




g Make sure the pins are inserted into the main pole holes.




6 Tighten the tabletop by turning the plate clockwise by hand.

YOU DID IT, WAY TO GO!

www.mogogo-buffet.com CATALOG# Al047



	AI001 Polo bistro tables Web
	AI025 Polo bar tables Web
	AI027 Polo Display tables Web
	AI047 Polo coffee tables Web

